practise-learn decimal x /+ (12)

dec.x /+

practise-learn decimal x /= (12)

answers (12)
1.2 1.2
1) Work out — k —
(1) Work ou 0d (1) Work out 0d
1)3
2.2 2.2
2) Work out — —
(2) Work ou 11 (2) Work out 11
2) 2
3.2 3.2
3) Work out — o
(3) Work ou 04 (3) Work out 0d
3) 8
1.8 1
(4) Work out  — (4) Work out 18
0.6 .6
4) 3
4.5 4
(5) Work out  — (5) Work out 1.5
0.9 0.9
5) 5
3.2 3.2
6) Work out — i
(6) Work ou 08 (6) Work out 03
6) 4
0.8 .
(7) Work out 0 72 (7) Work out %
2.8 2.8
8) Work out — =0
(8) Work ou 0d $) 7 (8) Work out 0d
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